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1 |dbiEE 6.4E+3 6,448.7
2 | EHE 6.0E+3 5983.4
3 |5FR 4.8E+3 47795
4 |EEER 4.5E+3 4534.6
5 [FEE 9.5E+3 9,466.2
6 (LB 5.3E+3 5271.8
7 |tBER 5.4E+3 5389.7
8 |7me 48E+3 01
9 |IHKE 1.9E+3 1,935.6
10 [BEBE 3.0E+3 3,002.1
11 [BEE 3.5E+3 3,497.8
12 |FER 1.8E+3 1,843.3
13 |EREAD 1.2E+1 12.0
14 [z)IE 8.0E+0 8.0
15 |FiaE 1.3E+4 13,049.7
16 |EIE 1.3E+3 1,311.2
17 |BINE 8.1E+2 8116
18 |f@HE 1.7E+3 1,728.1
19 [LWBYIE 5.1E+2 508.9
20 |[RHE 1.7E+3 1,651.9
21 [IFRR 71E+2 711.6
22 |ERRR 3.8E+2 378.0
23 |EHME 5.3E+3 5,315.1
24 |=ZER 1.5E+3 1,531.9
25 [#HER 8.8E+2 876.9
26 |HHRRT 7.5E+2 7485
27 | KB AF 1.4E+2 138.5
28 |EER 6.7E+2 666.6
29 |ZRE 1.6E+2 164.5
30 [F0FRLIE 3.7E+2 366.5
31 [EEWE 5.1E+2 513.0
32 |[BRE 7.5E+2 747.2
33 |EWE 1.4E+3 1,420.5
34 |IEER 2.8E+3 2,798.8
35 [lwOg 3.1E+3 3,058.9
36 [EER 6.4E+1 63.9
37 |BIE 2.8E+2 281.0
38 [BIER 4.4E+2 438.0
39 [EHIR 3.8E+2 381.0
40 [ERR 24E+3 2,399.3
4 [{EER 5.1E+2 514.7
42 |RIFE 1.7E+2 165.2
43 |REXRE 4.7E+3 4,750.0
4 | KH R 4.0E+2 400.9
45 =GR 1.6E+3 1,616.1
46 |EEBE 6.3E+2 633.5
47 |HER 5.4E+1 54.0

ESE 1.1E+5 107,122.7
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